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I. BEDO
1. RENVERE
B % 682,419 682,419
= FEES 2,084,503 2,084,503
EMFIRE 279,540 279,540
HElrE 0
KINE 0
REEESE 0 3,046,462 3,046,462
2. BIEEE 0
(1) EREE 0
A 36,000,000 24,000,000 60,000,000
HEire 0
(2)BTEEE
BEEEESE 36,000,000 24,000,000 60,000,000
E E & &t 36,000,000 27,046,462 63,046,462
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1. RBaE
x i £ 0
Bl % € 0
BY £ 88,120 88,120
BBt 0 88,120 88,120
8 & & &t 0 88,120 88,120
I0. IERREAEE D AR 0
— fi% IF Bk B 36,000,000 26,958,342 62,958,342
SbERPEADF L% (36,000,000) (24,000,000) (60,000,000)
OB EEEADILLE) 0 0
ErkBIEAE 36,000,000 26,958,342 62,958,342
BERUVEKRMEA: 36,000,000 27,046,462 63,046,462




